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It was previously stated; — DI PYD P 29 R DA
217 said, ‘the principal is to be repaid similar to what he stole’

OVERVIEW

21 taught that when a thief repays what he stole, he must repay the principal as it
was worth when he stole the item;' however concerning 793 or "M '7 (if he sold or
slaughtered a sheep or an ox that he stole) he pays the (multiple) value of its worth
at the time when the case is adjudicated in 77 n*2.> Our Mmoo will explain the
meaning of 212w 7°¥> (based on the X713) and discuss whether it was necessary for
27 to teach this.

- AR NADY PPIYY 299K 297 1999IN *KNINT NIPONA
At the conclusion of this issue the X7 states that s'29 ruling is relevant
concerning an increase or decrease in the value of the stolen object.

nooIn asks:
= (3,58 971p9) NP DTNN WA NN PNINN 1D ¥HWUN NP INMDI 9NN ON)

And if you will say; and what is 27 teaching us?! This is a mw» in the

beginning of X»p 91137 P19, where the mawn states that -
- 79510 NYYWI PRYUN 13910 Y5

All robbers pay for the object as it value was at the time of the robbery. 11 seems
to be saying the same thing, that whether the price increased or decreased he pays 213w 7°v2.

mMooIN anticipates a possible solution:

- D995 INUS DI P10 99K MPY PIPTT YW 1PNHINNT 23 YY GN)
And even though it seems that the mwn there is discussing cases concerning
(only) a change in the stolen item, for instance if wood was stolen and the thief
converted it into utensils. The point of the 71wn in this example is that the thief need not
return the utensils (which are worth more than the wood he stole) to the owner (for the thief

acquired the ownership of the utensils through "11°w), but rather the thief must only pay the value
of the raw wood that he stole. It would therefore seem that the 71wn is not discussing a change in

! This rule applies if the stolen item is not present (in its original form); however if the stolen item is present (in its
original form), the thief returns the original item.

* The w"X" explains that concerning 71 '7 he pays the multiple of its value at the time of 77" 720,

? See later on this T1ny.

* The thief pays the value the object was worth when he stole it, regardless of the value of the object at the time he
repays the owner for its loss (assuming that the thief did not destroy the object when the value increased).

> This is one of the examples the 73w there gives concerning this rule of 72°T31 NYWD PR2wR 19137 93
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the price of wood, but rather a change in the item where the thief improved it. However 27 is
discussing X211 X1 the change in price of the very same item.

mooIN attempts to bolster this idea that the 71wn there is discussing "11'w; not X7 RIPY:
= N2PNN HYVYI ©MIHYN DTN YD NXINDID NP ) (3,58 91 DN

And the Xo»3 there as well states that when the 71wn concludes that 299137 »2

TROTAT NYWS 2L, that extra phrase -
- SNIPY Y192 M1PW NYYI DIN AU N0 Y1) INYIN 5297 SNNNY

Comes to include the case of "X¥»X %27 where someone stole a sheep and it
matured and became a ram, the rule is that it changed in the thief’s possession

and the thief acquires it. This again indicates that the thrust of the 71wn there is to teach us
that if there is a change or improvement in the stolen item, the thief acquires the item and pays
only the value of the original item as he stole it. Therefore 17 is not repetitive of the miwn; the
mwn is discussing [only] a1p M°w, while 27 is discussing X2 RpY.

Moo negates this solution. We cannot assume that the 71wn there is only discussing M1°w and is
not discussing X717 X3P, For even though the examples cited were of "W -
= 999N 9123 NI NI PI¥Y DIPNI Yon

Nevertheless that 71wn is also referring to 82311 8771 and not "°w exclusively-

mooIn proves his point:
- 'NYIT NYDINR 1Y I119927 (x,3 91 s xa) THPO0N 9902 AT

as is evident in the end of 72757 P75 where the X na cites this 71wn of 0°17137 9
concerning X211 XY,

mooIN brings an additional proof that the 73wn of 131 2°19137 93 is discussing X1 RIpY:
- 5112195 Y9IN 533 (3,35 47 no2) AYY 93 P99 19

% One may think that only a change which the thief accomplished (like 2°95 8wy 0°x¥) is considered a sufficient
1w and he is 1P this item; however a "W which is automatic such as 2> 7wy 770 where the thief did not effect
the change, perhaps then the 213 is not 7117 (and must return the [improved] 2°X), therefore the extra phrase of
72T YWD DMM7Wn 00191 teaches us that a 213 is 1P even by a X nnT Mrw.

" The &3 there cites the ruling of 7127 mentioned here ("7 121 Xp°¥n 131 2137 181 °R7) and the X3 concludes (as a
support to this ruling) 72°137 YWD PR7Wn 1717137 73 1307, The case of 737 is a case of X7 &P and not of »11°w and
yet the X3 cites this 7wn of 5137 as a support to 727. Others maintain that the proof of n»poin is from the
discussion there concerning 17"2 who may maintain that a NTp92 7 12w pays 021i 12 AR¥IT nywd. The X1 asks that
"2 cannot maintain that if after the 7> MW the item became cheaper that he pays only nx¥17 nyw>, for the mawn
teaches 191 2171377 2. This proves that we derive from the mwn of 21 021717 73 that even in a case of 17171 he pays
a9mn nywa. See 179 77w a"ax.

8 1If a 71 eats 1N (of a 3712) 23w he must return N (not money) to the 172 (which in turn become 71217n). The X773
there asks, when the 77 repays the 775 in M7°5 does he return the same amount of M17°0 that he ate (if he ate a pound
of grapes he returns a pound of grapes), or does he return M7 that are worth the amount of N17°o that he ate (if he ate a
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And similarly in 7pw %5 a5, the X713 there cites this 71wn, concerning one who
eats 20 -
= 19 5¥a5 XD XM NIV 102D 77 NIY RIPIYNT RN 9INPT
For the X713 states that where originally the 72170 was worth four 2’117 (when he
ate it) and at the end (when he is paying) it was worth a 11, you do not need to
question -
- 79N NYYI DMNYWN D5N Y3 PNt 5t ¥ X1 Tobun ot r9Y INTT
For, certainly he pays according to its monetary value, for he is not less
responsible than a thief, and a thief would be required to pay four 2°17 that he
stole, as the 71w states '77291a7 nYWs 2onbwn 291917 ¥3'. We see from both these n a3
that they are citing this mwn of 191 0°17137 95 to be referring to cases of X711 Xpv. The question

therefore remains what 17 is teaching us when he states that 213w 1y> 779 (which we explain to
mean that he pays 72°137 n¥Ww concerning X7 XIPY), when it is already stated in a 73wn!

ND0IN answers:
= 1IPNYNRY RNNX ND 29 9P9¥T 990 v
And one can say; that the main lesson of 27 is not coming to teach us the rule of
anw Pyd 1P for indeed we know this already from that 7awn -
= 1972 DTRYN NYYI AYNNI AYAIN IMIYM Y93 1MIYUN NN
But rather 211 is teaching us the second part of his ruling that the payment of %52
and the payment of '™ '7 is as the assessed value at the time when the defendant

is standing in court to be judged. This rule that ' '71 993 is P72 772Y7 NYW> was not taught
in any 7wn.

Mmoo anticipates a difficulty with this interpretation:

= 297 RIYL NN 9INPT N
And that which the X712 asks what is the reason of 29; and the X3 answers that the
words 712°23 and 2>n indicate that 233w %5 1792 7°°1X (the thief is responsible to return the 177 as it
was when he stole it); it would seem from (the question and especially) the answer that we are
discussing the reason why 27 maintains 2% 7°¥2 17p; however 27 needs no reason why 77p pays
21w 1va for that it is a mwn,'! why therefore does the X713 ask (and answer) 277 v"n?

dollar’s worth of grapes he returns a dollar’s worth of grapes at the current price (regardless if it is a pound or not).

? He is required to pay four o1t worth of grapes at the current reduced price of grapes. If he ate a pound of grapes at the
then price of four 211 per pound, he must repay him with four pounds of grapes at the current price of one 17 per pound.

' This 21 who ate the 7171 is (in addition to eating 7m0 which is forbidden, is also) causing a monetary damage to
the 1712 (he is eating up his 71m17n), therefore he is required to pay (at least) as any thief would be required to pay. See
‘Thinking it over’ # 1.

" If the X3 is searching for a reason for the 17 of the 73w it should question and explain the 73w»; not 21!
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mooIn responds that indeed the &7 is not asking (or answering) why 27 maintains 213w 7°¥2 177,
but rather the X773 -
— 593 NP /1) 71 95V Y93 MY UNN
Is asking concerning the payment of Y22 and the payment of '/ '7; why is 992
and 'm '7 assessed as of 172 77Y7 and not 79°137 NYWD as the 1P s -
— ANY 1P¥3 1P AMNR BN N293) NP 9N IWIPD 397
And this is the explanation of the s'X7n3 answer; the verse states both 773%13 and
21, to teach us, restore the principal similar to what he stole -
— 7 1 mTUN KDY 1999 NPYT 1Y ¥awn)

And 27 infers from this 105 that only for the 199 (the 72°13) is there an obligation

to restore it (7771X) to its original value but not concerning the payments of '/m '7.
There it is not necessary to assess the value 213w 7°¥2, but rather 172 772y nyw2. The X0 cites
this 7wa7 of 21w PV 1IP% 70X, not for its sake to explain why 19p pays 213w ]’373,13 but rather for
the inference of this w17, that it is only 779 that collects 21w Pvd, however 793 and ' '7 are
assessed 1°72 07AVR DYWI.

mooIn asks: '
— VI /XA MTNN YWHY DT KA 9IRYT (x,np 91 10p%) NP HTINNA 99NN ON)

And if you will say; 829 rules in X»p 137 P79 if one stole three bundles (of
whatever) which were worth in totality three nwya» when he stole them -
— NNNRIY INNY 299N 721D 9NN 72 DY 1109 1D
And they became cheaper, so that the three M73X together are worth currently two
mu1nd, and the thief returned two (M179 or two of the original MTR), the thief is
obligated to return one (original >77& or one 7Y119) to the owner. The X3 continues:
— NN PYY Ha §NN ST N XM
And the Rin of our mwn taught us this ruling; one steals y»r and o> went by
(while the ynn was in the possession of the 1713), the rule is that the 1713 may say to the owner (if
the 7712 is still in the possession of the y»n that he stole) here is the y»r in return (even though the
Y1n is now nX172 Mox for it is noo7 179y 1ayw yan). However, we infer from this 71wn, if the 171
does not have the y»n, then he must pay the owner the value of the y»n (as it was before nod
[when he stole it]), even though now this yn would have no value since it is 7097 19¥ 223w yan.
Similarly by the m71X, even though they have no current value (the remaining 77X is worth less

123 35 (o*wown) NMmw. The 100 reads: 09w D1 O™M N3 WA TAI37 172 RYAN KX OX.

" It may indeed be the reason why 79°T31 nyw> wn 021913 22; however here it is cited (mainly) to explain why 792
and 'm "7 are not 797131 NYW), but rather P72 37AYR YWD,

'* The following question(s) are not necessarily relevant to our Xm3; however since noon cited the mwn of 92
151 0°17137 he explains its relevance to other n137:7 as well.

15 See moown there 1K 17"7 R,77.

1693 pa.
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that a VD), nevertheless the 213 is liable to pay (its original value of a 7v179). This concludes
the X3 in Xnap 21130

mooIn concludes his question:
= a5nn nywa PRiun 00910 997 PRINNN NN N1 NY INHDN

Why does he not bring a proof from our previously quoted 71wn that 2019137 92
FTOTAT NYWS b -

- 599N 33 NI KDY PIy5T 113
Since, as M0 previously proved, that 71w is also discussing X211 X9P1. The case
of X217 is a case of X711 X1p°; it was originally worth three and now it is worth two. According to

the 73wn of 121 2171A7 95, the thief is obligated to pay three 0°1v1, why do we cite the 71wn of 913
421 yan when we should cite the 73wn of 191 0159130 90?!

MooIN answers:
= 3519993 YN R DNONN YT PIINNDNT Y YN

And one can say; that from the mw» of 2% 92 the X3 could not have

brought a proof to 827 -
- Ba9tan nyws oYW Pa 3 RNY 93 9979 HAWN N RNN PP A9ITY NN ON ONNT

For there in the mwn of 0217137 92 if the 779913 would be present, it would be a
returnable object; the thief would be required to return the item he stole (for it is
worth more than a 7179), and therefore even if it is not present the thief pays

ST9OTAT NYWD -
- 11119 NIHY RY XNHWNT TNawn N3 XN XY PPV XN ONT DTN 233 AN

However concerning the ‘bundle’ where if it were present it would not be a
‘returnable’ object, for now it is not worth a 1199, therefore -

- DYVUN NI 23 RIOY 227 NPAN N
I would have assumed that when it is not present, the thief is also not required to
pay. This is why the X3 could not have cited the mwn of 02151371 %2; for in the case of 021717 92
the item presently has a value of a 7v175 or more; however in the case of the M7aR, the remaining

771X has no value (it is 701D Mwn NIND) -
= 9%9Y NN NDON PIY 93 NNPNT RYANN Yan

However from that 71wn of y2r and noo77 1999 92y the X713 brings a proper proof

' The advantage of citing the 73wn of 121 2°19137 93 is because the fawn of D391 23 precedes the 7awn of y2n 71 (see
later in this o). [Alternately; from the 7awn of ynn 913 we derive that he is required to pay (the y»n [and hence
the third 177]) only from an inference; however the mwn of 2219137 93 states it clearly.]

' The item deserves and needs to be returned. If the thief cannot return it he pays whatever (value) he stole.

' This seems to contradict the mooIn (cited previously in footnote # 14) that if the 773X is present he must return it
(even though it is currently worth less than a 7179 (see "19). Perhaps m»oin means that this 771X currently is not a
72w N2 if it would be stolen in its present state (when it is not worth a 7v179). See 77"1X.
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to X217 -
- NYPOYNTI BYUM PP RNYT XD 591 1PON 2199 MW Y 1P¥3 91 19INT

for even if the v was present it would be worthless, and nevertheless when it

is not present he pays the original value. The same is true by X321 that even though it has
no current value (it is 779 MW Md), nevertheless he pays the original (7v179) value.

In Summation: The mwn of ynn 91 teaches that [even] if something is worthless 7awa nywa,
nevertheless there is an obligation to pay for it ([perhaps the price of] 77°171 nyw>). The mawn of
%1717 95 teaches that the payment is 72°1a7 nyw> (even) if it is worth less (but not worthless)
12aWn Dyw.

mMooIn now asks a similar question in reverse
= NIPOWNTI DOWNT NN T1NT RINDN MINNRD I8N M (8,15 97 oonos) NYVY DI P992)

And in 7pw %> P95 (concerning the X°Y2>X if 27wn 777 0% or if D2wn 017 *oY, cited
previously) the X713 could have brought proof from that 71wn of y»r 13 that he

pays the original value. The same applies by 'R 710371 '7 X7p°vn that he pays the original
value. The X3 therefore could have cited that *’mawn -

Mmoo explains why the X7m3 chose the 73wn of 2219137 % instead:
= NYNN NMY NINY DTN Y37 XINN N*ANY 1YY XN”NT NIN

But it was preferable for the X713 to bring that 3w of 25191357 ©5 (as opposed to

vnn 1), because it was taught earlier. We first have the mwn of 02171371 95 (on 2,3%) and
later the 73w of ynri 21 (on 2,1%).

mooIn offers an alternate solution why the X723 in 2°10» did not cite the 71wn of y1n 91 instead of
the mwn of 0217137 7>:
- QHYN 07 2957 YYD PINIY 8B RY NNIN T1NT PN 13529 92IN T

And furthermore says the "' that from the m1wn of y72n 913 we cannot infer at

all (and resolve the issue) that one pays according to the monetary value (as

opposed to 171 °99) in a case -
= NI XMWY 91020 77 XMW NIPIVYNT RN

Where originally the 72170 was worth four and ultimately it is worth one
= NODYN NN DD 9MITYY S¥a PYa NNOY 53 NN 22)T NXININ MNT

For I would have assumed that concerning y»n when the v is not present he

is only required to pay him genuine Y% (not [other] nos71 1°9v N2yw yan) -
= 0YYN NN 29T DY NIIHN NMIND

%0 perhaps the advantage of citing the 13w» of yr 213 over the 7awn of @°39137 93 is that one may argue that the rule of
0°171a7 92 is only concerning MW but not XY RIPY.
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The equivalent of the size of the piece that he stole, for we can assume that 5%

auwn 7T -
:2m9n NYY YW 079 XY YaN

But he is not required to pay him the value of 7%°1377 nyw. Therefore we would not
know whether he pays one 11 of m17n (the current value) or four 217 (the original value) we
would only know that a payment is due. Therefore the X713 cited the mwn of °121a7 %5 where it
clearly states that they pay 12°137 nyw>, that one must pay the original value.

SUMMARY

The purpose of 27 is to teach us that 995 and '™ "7 do not pay 213w 1°v2 but rather
172 A72Y7 DYW2.

The mawn of 0217137 95 teaches that the payment is 77°137 nyw> (even) if it is worth a
lesser amount 772wn nywa. The mwn of ynn 713 teaches that [even] if something is
worthless 7awn nYw31, nevertheless there is an obligation to pay (but not necessarily
72°1A7 DYWD).

THINKING IT OVER

1. Mmoo asserts that the 73wn of 191 02157137 93 is referring to X7 X1 as well. One
of MPOIN proofs is that the X3 cites this 7Iwn to resolve that if initially the 772170
was worth '7 (when he ate it) and now it is worth a 171, he pays '7, since 2217137 9
"191.2 However the case there is that he ate (and destroyed) the 7170 when it was
worth "7, therefore he has to pay '7 (since he consumed an item that is worth '7); but
27 is teaching us that even if the item was lost or destroyed after it became cheaper,
nevertheless he pays the higher price 11%°131 nyw>. This seems to be a different
ruling entirely!*

2. In the case of 827 (which is supported by the 7awn of ynri 13), where the 77X is
currently not a 70179 MW and he does not have the original 7712X; is he required to
pay a 01 or can he acquire an 773 (for less than a 7v199) and return it?**

*! We can derive from the 73wn of y»n that payment is due, even if at the present time there is no value to the stolen
object (as by ynrn or by the m71K); however there is no indication from that 71wn as to how much payment is
required for the y»n (meaning that if the price of ynn decreased after oo he may only have to pay the amount of y»n
he stole, which is now worth less than when he stole it), and therefore we cannot decide whether it is 777 %% or 9%
1.

** See footnote # 10.

> See 178 mwi "X

** See X"w1an and »"m.
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